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. Solve the guadratic equation by factoring. ’( “3€ ¢ F=<
+ ‘()(4“ 1)< 0

2 -3t=28 é:-r'((» <o A E~] =
Erv—Y = o o q‘f_-{—_jutr/
The solution set is {! EE = "“f"} 07
(Simplify your answer. Use a Ma to separate answers as needed.) ;]/
Answer: =4,7 @ /1\ m @”{/
~__ID: Quick Check PF.4.9 . </
e e e
EEL R Ea )(3 A YA
U . Solve the equ;tlon He _ L A { ‘J n? -5(4/ _c?;_
1 - S =T - .
9 +x% -36x-4=0 (1) ( ,-1-7 g ((J) Ve
The solution set is q )( ( "/ X - =2
o (Slmpl 5:/.« answer. Type an mtager or a simplified fraction. Useacom a to separate answers as needed.
USt Synt iy ‘1>( ol l Q(—— T

Answer:

—5.—2-.2 | /(- A S R :
P i3k
ID: PF.4.39 <_
s — N N

Find thelﬂistance\'d(ﬁ PZ) between the given points P1

e —d W f/‘f"fJ T

Pz (-16) é //// - -/ ((‘-/) . (@))

S/ ) i -6yt FTT
d T T
d(Py. P2) =| L "

(Simplify your answer. Type an exaqgﬂﬁ_wgr_l.ising radicals.as needed.)

Answer; F d
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4. Find the midpoint of the line segment joining the points P, and P,.
Pi1=(2, -4);P2=(8, 4)

The midpoint of the line segment joining the points P, and P, is |' a !
(Simplify your answer. Type an ordered pair.)

) (3 ¥
e (z,~7) (%

4

iD: F.1.39
| t/ 7,9
prdyont = (FG 17
2 l

= g ) o .
pnd poos = (L) L)
Medpot = (3_,,/2:3./ ¢ v%“/
R
‘/”'Z‘( A Yok © ( § y, g) ////
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For the equation x° +y° - 6x — 4y - 3=0, do the following.

(a) Find the center (h,k) and radius r of the circle.
(b) Graph the circle. , l_ &
(c) Find the intercepts, if any. ’) VA
F L /
(s
(a) The center is 4 \ AN
(Type an ordered pair.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math

v =

The radius isr=|

(b) Use the graphing tool to graph the circle.

(c) Find the intercepts, if any. Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

(O) A. The intercept(s) is/are .
(Type an ordered pair. Use a comma to
separate answers as needed. Type
exact answers for each coordinate, using / v / / -
radicals as needed.)

() B. Thereisno mte{;cept

_{,T(y4y—fj —z/-r(/wy
Answers(32)/V _J(’/(, T/ ) T? ,_4{] T(
/ (./7 7‘7' (/7-(”(/
(/( ))()( 5) - ( '{d)(
Lille

\'Y

-1 04

A. The intercept(s) is/are (3-243,0),(3+243,0),(0,2-47),(02+47) |,

W \/k
Q v LA T PR UL R
40 B £ 4

9=

P
]
5 -
-
=

VT i) Ly

/o/ o) Hh)"

} (77 ()<
(s ol e iy &

/ A

(x‘a) f /:)fz)
<( _(’..'--’L"t{ el j
- /C //u D (//(’ (k//j;

(%,2) > “Z;fx

(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each coordinate,

using radicals as needed.)

ID: F.4.27
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6. Find the domain of the function.

! f(x)= 4/2x- 18
The domain is | (Type your answer in interval notation.)

Answer: [9,00)

ID: 1.1.59

x-S i1 ¥
bk (V2= .
’/ "-'/f- 7 /
A LT = 0T M ALABZ0

ox 2 (7 \'-x/

3x 2 &
x>‘?‘\

=

4 of 47 11/17/2019, 3:55PM



finalm1314COC054sulllljjRZZ22Y-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

e

5 of 47

For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x) = 5x +6; g(x) = 7x -9 (F7 %) =
. p. / ~+ S0<) < e :
(a) Find (f + g)(x). f; : j 7‘“(//-* /) 2 N /G -3 )
(f+g)(x)= (Simplify yogr ans er) = ('_”/90 (}ﬂ)
fX‘f(J ?‘#/l/"" 2 o
What is the domain of f + g? Select the correct choice below and, if nece /y fillin'the answer-box-to.complete- yoﬁ"r
choice. S s 2x—32- Yy UV
_._____'__,_.-/
f
© A. The domain is {x| ¥ ( F—— (j/({/

(Use integers or fractions for any numbers in the expression Use a comma to separate
answers as needed.)
J(A) =

) B. The domain is {x| x is any real number}.
| )('r@)"’(/(//'_)—

(b) Find (f- g)(x). - ‘/ »{~C . 7)(_,‘ -

(f-9)x)= | (Simplify your answer( __./){ ”‘/’ / ;’//

Ao i
(—2517)
A 4

What is the domain of f—-g? Select the correct choice below and, if necessary, fill in the answer box-to-complete your -

-~

choice, ( v ) \/) e
O A. The domain'is {x| }. LiZ) o ) =
(Use integers or fractions for any numbers in the expression, ; Use a comma to separate
) answers as needed.) (5H>( i (;) (7~ ;) - 1
() B. The domain is {x| x is any real number}. f _ . ¢ V2
25 0. — oYX —§¢ C [
(c) Find (f = g)(x). 27X 5)( : < V_ ‘¥ /

s
(9= (Simpiity youranswa& =& —TF = )

What is the domain of f- g? Select the correct choice below and, if necessary, fill in the answer box to comple

0 A. The domain is {x| } (f:;—d_)'/)‘// -

(Use integers or fractions for any numbers in the expression Use a comma to separate
answers as needed.) s ao

fAY, = WSS G
( »C) .
(d) Find [ ](x) _

;_ | .\ 7}( - z.,‘
{i] W= (Simpify youraér) 7)(/ ] () (" %ﬁ . _(L,
g _ X /

f
What is the domain of —? Select the correct chorce below and, if necessary, fill in the answer box to complete your choice.

() B. The domain is {x| x is any real number}.

_.,//./Z\ 4 oL ¥ 6
) A, The domain is {x 2 f ( /(,’ 22

(Use integers or fractions for any num ers in’ He expressuon Use a comma to separate

answers as needed.) / 7‘ j )L_) 7 56 N )

(e) Find (f+ g)(3). p{ " &

(_) B. The domain is {x] x is any real numb

11/17/2019, 3:55 PM



finalm1314COC054sulllljjRZZ22Y-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math
(f+gx3)= (Type an integer or a simplified fraction.) (7/ = DJ){/ -~ )( ff/ 3
Es (f) Find (f- g)(4). (/ = 7/( &) = (G)Tl 5
(f-g9)4)= | (Type an integer or a simplified fraction.) ( / —6/ )ﬂ,’, it ~——/7L / 3

_a(g) Find (f+ g)(2). i j//gc) 7 N e

(fe g)(2)-'” |(Type an integer or a simplified fraction.) L
- (Frokge 3¢ =347
f o :
(h) Find (-g—](ﬂ. (, 2 7/( o B (‘_ ){ ;(q’,}-- §Y
A | . | s J(2) = Sv(eie)— 35
[ ](1)— (Type an integer or a snmph /fra/ct?n}) 3 3 , ( 9) — 3 - G4
Answers 12x-3 (x_ v }/ ( ,;) /&’() - (3 — i
B.2The1dsomain is {x| x is any real nu b’ér}C/ )/ (/() /O N g
-2x +

B. The domain is {x| X is any real number}. 5 /(”/ (

35x% - 3x - 54 ( /) ( "‘/) - | AL G

(
. §(1)6
s (/)/( ST T
A. The domain is {x| x¢ = }

(Use integers or fractions for any numbers in the pressu:n Use a comma to separate answers as needed.)

Zj (=5
(J/ VQOE L

B. The domain is {x| x is any real number}.

11

2

ID: 1.1.67
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8. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

(a) Find (f + g)(x). fe) 1+ JD6&) ld TN k
- &5
¢ )+ (Tt ) =
f+g)x)= Simplify your answer.) (’( N
g | (Simp Yo -9 M/,V)
What is the domain of f+ g? Select the correct choice below and. if. nacessary ﬁII in, the answer box to. eomplete your

choice.

C Rt +x—¢ g~
O A. The domain is {x| }. ( / / )/"-/}

(Use integers or fractions for any numbers in the xpression. Use a comma to separate
answers as needed.) . / Csr ) z i _

i) = ) - W
é (b) Find (f- g)(x). ("/ (") (7’: /
Y— t- =G = T

(f—g)(x)=_ (Slmpllfy youranswer) - \
— C=Fxtrx—6 =N

What is the domain of f — g? Select the correct choice below and; if necessary,fill-in the answer box to comp!ete your/

choice. ( ) ¥ )(/
O A. The domain is {x| . ’(“(} = J G~ )

(Use integers or fractions for any numbers in the expression. Use a comma to separate

(O B. The domainis {x| X is any real number}.

s
P

answers as needed.) é) ( ? )( 1 ) -

. Q/ . -
O B. The domain is {x| x is any real number}. : " 7 TN ‘H\
(©) Find (f+ g)(x). ( (’" S’f’/ /’ p

. - . f’)f (P ) #
(feg)(x)= (Simplify your answer.) ,Z/] )(/) -
What is the domain of f - g7 Select the correct choice below and/ if necessary fill in the answer box fo complete your choice.
{rd. A
© A. The domain is {x| }- —)()( i Ao / )( "
(Use integers or fractions for any numbers in the expressron Use a comma to separate il = C )
answers as needed.) o — {’E,é 2 ,:;;—
() B. The domain is {x| x is any real number},~ /{/ 6 \'\‘\ - /7
— = \. 2 C )
f &l > /(
(d) Find (—J (). X - /—
g = WL Z O
[ f}() | G ) P CT)“‘“ ~
—|(xX)= | (Simplify your answer. i i
) R — L ¢ Y< ©

f
What is the domain of E? Select the correct choice below and, if necessary, fill ig the answer box to complete your choice.
(£3/p0) = TH 6
O A Thedomainis{x }- (-/ f‘/(ﬁ) ?(3/ - (/) é

(Use integers or fractions for any numbers'in the axpressuon Use a comma to separate_ | ya
answers as needed.) ([J/’ Y. (J) - ( ) =
O B. The domain is {x| x is any real number} }(/) /) 'f' ( ?/
‘)

a’/fr)'é

gm/r/ 77 _

// i 11/17/2019, 3:55 PM
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(f+9)(3)= (Type an integer or a simplified fraction.) } /// ¥/ < ”(X T
-j(f) Find (f- g)(2). 9 =3/(8)c —i(2)t +2) ~ 6

f-g)2= |(Type aninteger or a simplified fractn? /X 7)< it () /) -6
sl (@ Find (910, //[ z/ z = F(Y) 1) 6

fe9)4)= (Type an integer or a simplified fractlon

(h) Find (3](4). (L:?/(Z):_ — &0 ’_.\""‘f_’f_/‘
(P < ‘f/>(——> X~
vy (9= (%)~ s7 () ©
e (v 5 (90 $)—SEINY)

( ] 4= (Type an integer or a simplified fractll

B. The domain is {x| X is any real number}

2 (F3)(%) =9 ( (¢ - —~57(7¢)

-9 +x-6

B. The domain is {x| x is any real number}(; j//(f) Z §/ C .‘ 7( /
™

9x° - 54x g G_a )/(l{) *2%/ L/L/
x is any real num

B. The domain is {x|

-t
x-6 ( X/ ff =
9x2 j f//\/

A Thedomainis {x|  x#0  }.

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

A

78 4 - /
- q z)( a)
- 288 .
1 =
. =

f(x + h) — f(x)

! Find the difference quotient of f; that is, find —hn h#Q0, for the following function. Be sure to simplify.
’ { N
18)C ~Glerm) + 0 ) (X T
V f0)=x" - 9x +6 (Q_f_l___ /{{/A)_._f ¢ St} 24 ) &

f(x + h) - f(x) T //'

= [Bleh) —ax —5h 16~ Sx-¢ _

Answer: 2x+h - 9//[7(1/’_”'([\’4” f/‘//f/) 7"6//—{'
i st —sghop b= wwj

\ ——
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10.

y

(\' f'v’f' A Yes, the graph is a function because every vertical line intersects the graph in at most one

9 of 47

P ¥4

Determine whether the graph on the right is that of a function by using the vertical-line OI € Cilre (¥
test. If it is, use the graph to find the following. ;
85 ¥
(a) the domain and range 3)
(b) the intercepts, if any (-“ X
(c) any symmetry with respect to the x-axis, y-axis, or the origin i ]‘3_)

Does the graph represent a function? Choose the correct answer below.

-

e point. -

(O B. No, the graph is not a function because a vertical line x = 2 intersects the graph at two points.

(O C. No, the graph is not a function because a vertical line x = 2 intersects the graph at only one
point.

(O D. Yes, the graph is a function because every vertical line intersects the graph in more than one
point.

box(es) to complete your choice. ¥ :) 4 {

O& U"Z B nt
O A. Th@mam’is 0/ *) _The nge is 5 )
(Typeyour answers in interval notation. Use integers or fractlons for any numbers in the

expressions.)
(O B. The graph is not that of a function.

(a) What are the domain and range of ﬂ(w functlon? Select the correct choice below and, if necessary, fillin the answer -
) p)

(b) What is/are the intercept(s)? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

g A The@;t'é’r_cé‘pt(/s;'s:’are (/ J O)
(Type an ordered pair. Use a comma to separate answers as needed.)

(O B. There are no intercepts.
(0 C. The graph is not that of a function.

(c) Determine if the graph is symmetric with respect to the x-axis, y-axis, or the origin. Select all that apply.
[] A. The graph is symmetric with respect to the x-axis.

[] B. The graph is symmetric with respect to the y-axis.
[[] €. The graph is symmetric with respect to the origin.

 [EYD. The graph has no symmetry. -

[] E. The graph is not that of a function.

11/17/2019, 3:55 PM
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Answers A. Yes, the graph is a function because every vertical line intersects the graph in at most one point.

A. The domain is (0,3) . The range is ' (= 00,5)

(Type your answers in interval notation. Use integers or fractions for any numbers in the expressions.)
A. The intercept(s) is/are (1,0) .(Type an ordered pair. Use a comma to separate answers as needed.)

D. The graph has no symmetry.

ID: 1.2.19
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11.
Determine whether the graph is that of a function by using

4 the vertical-line test. If it is, use the graph to find
,/ (a) its domain and range.
(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or the
origin.

Is the graph that of a function?

— -

T Yes—
e
() No

If the graph is that of a function, what are the domain and range of the function? Select the correct choice below and fill in

any answer boxes within your choice. (/. ( / ﬂ rod4 ) / //z j
g - . ¥
e <._‘ " o L} b Uare
9 @A The@majn i!\" < ?!)Thegngens ( /e Y ( Jl’ )
(Typeyour answers in interval notation.)
() B. The graph is not a function. / :
What are the(ﬁfercep Select th{corr'ec’l cho:ce b)?mw and fill m) any answer boxes wuthm your choice.

on (<60 (1,02 (NU g1

(Type an ordered pair. Use a comma to separate answers as needed.)

=y Vi‘

(© B. There are no intercepts.

() €. The graph is not a function.

Determine if the graph is symmetrical.

(O A. ltis symmetrical with respect to the origin.
O B. Itis symmetrical with respect to the x-axis. L

(_ «rC. Itis symmetrical with respect to mmxm_
(O D. The graph is not symmetrical.

() E. The graph is not a function.

Answers Yes

A. The domain is (- 00,00) . Therangeis . (=00,8] (Type your answers in interval notation.)

A. (8,0),( - 8,0),(0,8) (Type an ordered pair. Use a comma to separate answers as needed.)

C. Itis symmetrical with respect to the y-axis.

ID:1.2.21
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12. Using the given graph of the function f, find the following.

(a) the intercepts, if any
(b) its domain and range

y/ (c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

\r?

A ! y
- 2 b - f A 7 ’ 3 . = )

(a) Whatére the@ar:;ts? .J(l‘n T~ b/t 7 L 4. v e rr
; A — i (_,) \— g A~ r}/f ’ J
—f, & (j/p) )¢ ) v~ .
(Simplify your answer. Type an ordered pair. Use 2 comma to separate answers as ided.) \

(b) The domait is [_ & }1 & f/l-ﬂ ff)/,c’z
(Type_y aﬁswer in interval Eotahon) ) k.

g rearsels [, 3.\ (o, TOpS Kl( -f;" 40.?

ouf answer in interval notation.) &

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes W|th|n your
choice.

O A. The graph rs(Imcreasmg\ on ()’Z [ / 7 3 j
(Type your a erin interval notatlon Use a comma to separate answers as needed.)
(O B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

O A. The graph !s@;reasmg on ES ‘] [O’ Y, /’Z

(Type your answer in interval notation. Use a comma to separate answers as needed.)

(O B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

O A. The graph is constant on
_ (Type your answer in interval notation. Use a comma to separate answers as needed.)

—
= efB The ¢ graph is not constant on any interval. Ak

e —

(d) The functionis (1)

(1) O odd.

O neither odd nor even.
—_

e ""‘\

all O even
=
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Answers (- 1,0),(1,0),(0,2)
[-3.3]
[0.3]

A. The graph is increasingon [=1,0],[1,3] |.
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [=3,-1],[0,1] ..
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25
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13. Using the given graph of the function f, find the following.

r ; (a) the intercepts, if any
,.« (b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

‘:\\'&
(a) What are th intercep_ts?(
—7 g | A~ Hs
(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

a (b) Théorﬂain is E-— >, po ¥ /nﬁ ry 44)
(Type your answer ih.interval notatinn ound to'the nearést integer as needed.)
= The@ﬂe‘s —(obbry 7007 )

(Type.yoUr answer in irterval notatlon Round to the nearest integer as needed.)
(c¢) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

. : 7 AT
O A. The graph mﬂacrea m { bl e /

(Type your answer in in terval notation. Use a comMma to separate answers as needed.)

(O B. There is no interval on which the graph is increasing.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

O A. The graph is decreasing on
(Type your answer in mterval notation. Usea_comma to separate answers as needed.)

Qﬂ{ There is no interval on which the graph is decreasmg‘\

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

O A. The graph is constant on
_(Type your answer in interval notation. Use a comma to separate answers as needed.)

K

— L—*’g There is no interval on which the graph is constant. -
-~ —

(d) The functionis (1)

(1) O even.
O odd.
1% neither even norodd.

e
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Answers (0,9)
( . ml“’)
(8,00)

A. The graph is increasingon (—o0,00) .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. There is no interval on which the graph is decreasing.
B. There is no interval on which the graph is constant.

(1) neither even nor odd.

ID: 1.3.27
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14. Using the given graph of the function f, find the following. i Ay i
_ ! 4- f
,;;jéta) the intercepts, if any . ¢ /L) [ = ) \3 _
** (b) its domain and range Q ) = L\ ‘ ]
(c) the intervals on which it is increasing, decreasing, or constant - \ /‘; §) )
(d) whether it is even, odd, or neither at ol 2/
o) e
: wd)d (I/’ L )

(a) What are the intercepts?

) O | (} ‘)

(Sirmplify-your answer. Type an/curderad pair. Use a comma to separate answers as needed.)

(b) Theé;n:;:sl;"ﬁ ' gé“ /ﬂ ‘/)4/]

(Type your answer in interv. notallun )

The@lﬂ — 72 Zj*”//v“/ 70’”]

(Type-your answer'in inte al notatlon)

M

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

O A. The graph is@g on g
(Type your answer’in interval nota on Use a comma to separate answers as needed.)

(O B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

O A. The graph isf.é;ﬁiiﬁg on t" ( (.
(Type your a er‘l'n/ interval notafion, Ijse a comma to separate answers as needed.)
(O B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

O A. The graphi nstant ﬁn L 5 - ? C‘/ 4 3

(Type your a €r in interval notatton Use a comma o separate answers as needed.)

(O B. The graph is not constant on any interval.

(d) The function is (1)

(1) O odd.
Lﬁﬁelt%cmmmf

() even.
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5
Answers (0,0), [E.O]

[-3.3]
[-2.2]

A. The graph is increasing on [2,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-11]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is constant on |[-3,-1],[1,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(1) neither odd nor even.

ID: 1.3.31
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15. " For the graph of a function y = f(x) shown to the right, find the absolute maximum
and the absolute minimum, if they exist. Identify any local maxima or local minima.

//j-'] _’r}/

- abs{ A e
Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice. U-L/ z,( ' K- /'(\

O A. The@m&mofyﬁ(x)isf(_ 2 )= 7 - ('5) /

(Type integers or simplified fractions.)

(O B. There is no absolute maximum for y = f(x). 1 e
ol )
Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice., ﬂ&«,
e, ] A g)
O A. The ztb{c:luie minimum of y = f(x) is f( l )= / )
(Type'integers or simplified fractions.)

(O B. There is no absolute minimum for y = f(x). C (/‘/( m A

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

O A. Thglawlga:_;in; of y = fx) is f( /1'}7 ) / . (3)) 7

(Typ&integers or simplified fractions.)

© B. The local maxima of y = f(x) are f( )= and
( )- . (
(Use ascending order with respect to x. Type integers or simplified fractions.) . J m i
(O €. There is no local maximum for y = f(x). t .H\,C

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

O A. Thel@aﬁ%‘%yﬁ(x)isf( [ ) = ] : (/) I)

(Type integers or simplified fractions.)

© B. The local minima of y =f(x) are f( )= and

( )-

(Use ascending order with respect to x. Type integers or simplified fractions.)

(O €. There is no local minimum for y = f(x).
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.(Type integers or simplified fractions.)

Answers A. The absolute maximum of y = f(x) is f(_

.(Type integers or simplified fractions.)

.(Type integers or simplified fractions.)

A. The absolute minimum of y = f(x) is f(

A. The local maximum of y = f(x) is f (

A. The local minimum of y = f(x) is f(

ID: 1.3.51

19 of 47
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16. The function f is defined as follows.
-2x+3 ifx<A1
f(x) =
2x-1 if x21

(a) Find the domain of the function.
(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph find the range

(a) Thz;iomam;xfthe function fis /= /\ ) & / ./ .{ // ([)

(Type your-answer in interval notation. )
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

" . P
O A. The ifitercept(s) is/are (0 _ i))
(Type-an ordered pair. Use™a domma to separate answers as needed.)

(O B. There are no intercepts.

(c) Choose the co!'rect graph below.

acyy

(d) Th&:ange ,of the function fis | ) ( ).f (0 TN ) 70 ¢ ——

(Type your-answer in interval notation. ) :
Answers (- c0,00) : <
A. The intercept(s) is/are (0,3) 8 \/\ //{ l/’ =
(Type an ordered pair. Use a comma to separate answers as needed.) ¢ ¢ /
e / |
¥ ! ) |
« L\_, l v r U / C,'{/\f J

A.

[1,00) | ></— /’“\4\74 5 - \\

ID: 1.4.33 /

- D ,.-f';' e ——
ped [ = (e

\\\ ‘7’/, ’—."éx’fﬂ} ,_( )(< )mc-u
S (')I

S | = (12D C_L.Lt
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17. The function f is defined as follows.

g 4+x ifx<0
& f(x) = _
x2 if x=0

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a)TI?é":IJo_r;l_ajn of the function f s | = 7 ) @ /({} f) 1/0’) ( L)

(Type.your answer in interval notation.)
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
OA. Th *iﬁié&:épj{'s) is/are (‘“ (/ P et ) ; ( O) J )

(Tyzw_an"érdared pair. Use a comma to separate answers as needed.)
(O B. There are no intercepts.

’ (c) Choose the correct graph of f(x) below.

O A O B.

(Type your-answer in interval notation.)

Answers (— 00,00)

A. The intercept(s) is/are | (—4,0),(0,0)
(Type an ordered pair. Use a comma to separate answers as needed.)

/s i
C. ‘ _ t -y (e
(7o \1 e
ID: 1.4.37 ] |
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18. The graph of a function f is illustrated to the right. Use the graph of f as the first step
doward graphing each of the following functions.

(@) F(x)=f(x)+3 (b) G(x) =f(x +5) (©) P(x)= —f(x)

1
(d) H(x) =f(x + 1) - 2 () Q(x) = 5 f(x) (") g(x) =f(-x)

(9) h(x) =f(2x)

(a) Choose the correct graph of F(x) =f(x) + 3 below.

O A OB

(d) Choosethecnrrggj_graphofH(x} f(;(+1) -2 below. RS sz “/-L !‘:l U —_—)
; {fw____/fc 47\ /::,/.; -

'HB

1
(e) Choose the correct graph of Q(x) = Ef(x) below.
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(f) Choose the correct graph of g(x) =f(—x) below.

e

= Y O B.

(g) Choose the correct graph of h(x) = f(2x) below.

/ (:fj A. N \
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Answers

ID: 1.5.63
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19.
(a) Graph f(x) = |x + 5| - 4 using transformations. Ay
(b) Find the area of the region bounded by f and the x-axis 10:
that lies below the x-axis. 8-
| (a) Graph f(x). 16:
(Use the graphing tool provided to graph the function.) 4T
19
(b) The area of the region bounded by f and the x-axis that 2_ .
lies below the x-axis is | square units. L i — T3 et —>
(Simplify your answer.) (o B2 _2' G L6 110
|
i
H6+

Answers

25 of 47
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y 4~ 20. Solvethe following equation using; tﬁe uadraticfonnula = L
M h\l }in ‘7’(( *’( /c)”’[ (f({j'“'"/ﬂ)( 5) 311,‘-’32}/7/“@
5x -18x-8=0 T f, &( ¢ ) /O

- e S
aThe sblut'iLdﬂ set |'s EI/ ]} = = 1§tV &g

(Type an exact answer, using radicals and i as needed Use integers or fractions for any numbers in the exr.;ressm'f;r Usea
comma to separate answers as neede;l ) o { g 34 Z L
4/‘ U A/_ - = __,_'. =

Answer: 2 0/ ( 4 / :

"% (.;( Lf *]ﬁ\ X _il
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e N m - !
ID: Quick Check P2.2.2 an C‘(e T L 5 ){/" /\ o )( /G

21. Find ﬂg:eros if ?:y of the qu dratic function using thaﬂquadrallcf /’__[a .What are the x-lntercepts if any, « mmph

.“-_1\
=
[
\
?
&\
\

V'\

_of the function? g,( 3 /(,, Yy "(cc . H(z)—ju/é/ SN-3)
,.,’, L): T3 2‘\ ( Y 0 =

f(x) = 2x% = 34 2x _ f” 2+ Gty
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. & "

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a commato

separate answers as needed.) —_ 3 /’chg_/

Ty A. The zeros and the x-intercepts are the same. They are T
r ,Z_ -+ (_,x / }

The zeros and the x-intercepts are different. The zeros are , the x-intercepts — =
O B. (92
are . o~
e,
() €. There is no real zero solution and no x-intercept. é A (/
—{ 24C
N 1T 14T
Answer: A. The zeros and the x- mtercepts are th me /They are | | 2 ; / / V
i
(‘T\/fz g(‘/“‘”b"/)

ID23MK\M)( -~;___£§? dﬂ“Gg )i'jﬁzh SR 12, 2 (7l

22. Find th@thefundlon What are the x-intercepts of the graph of the function?

g(X)=x+34/x - 18

Select the correct choice below and fill in the answer box to complete your choice.

) A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

1 B.
are

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

Answer: A. The zeros and the x-intercepts are the same. They are| 9 |
X+ SUX — 5 =D O << ‘““/’L
X—13="30x RAY

ID: 2.3.75
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23.

q Graph the function f(x) = - x° - 6x by starting with the graph 30_“9
ofy= x> and using transformations (shifting, 2,._5'
stretching/compressing, and/or reflecting). "'

204

Use the graphlng tool te graph the function. o 154
i . / 5w( % M ’ / “ _

- é/X G w‘/ ( J « 104

— _:'_—{f__‘_‘f‘":—_ _ 1 ‘15_5
K A- /’U,jff X B 257

Answer:

ID: 2.4.29
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@( /

_For the quadratic function f(x) = X2 - 4x -1 2, answer parts (a) ,30:"*'
through (c). ]
164
4 (a) Graph the quadratic function by determining whether its 12_:1
graph opens up or down and by finding its vertex, axis of i
symmetry, y-intercept, and x-intercepts, if any. 84
Does the graph of f open up or down? 4]
. X

O down 20 18|42 B -4 1|4 '8 12 16 20
O w M
What are the coordinates of the vertex? &
_ 12+
The vertex of the parabola is | ;
(Type an ordered pair. Use integers or fractions for any 1b~
numbers in the expression.) 2(,-

What is the equation of the axis of symmetry?

The axis of symmetry is |
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

(O B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

O A. The y-intercept is
(Type an integer or a decimal.)

(O B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis [
(Type your answer in interval notation.)

The range of fis | L.
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)
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da/ W/—[ t\lf /{ - ({ C\//mf‘ﬂ’7 /5 %L{
Answers up Sl G c»ﬁ %
2,-16) = ? cAd- 236 €™ 8 L/ 7
o S€ /A/ Eefra cdoubly #aeud
x=2 ) C U )
A. The x-intercept(s) islare | 6,-2 | Ches €< Z -

—_ "W ..-:.,c‘n-——'*"/
N (Type an integer or a decimal. Use a comma to separate a rs as needed.
‘\\‘ } B o 1
: r . - 1 . )
—_—

[-16,00)
[2,00)

(-2 W Mﬂ(a'w

ID: 2.4.37
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* For the quadratic function f(x) = - 25 - 2x - 5, answer parts

(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)

The vertex of fis
(Type an ordered pair.)

The axis of symmetry is L
(Type an equation. Simplify your answer.)

Determine the y-intercept. Select the cormrect choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is
(Type an integer or a decimal.)

(O B. There is no y-intercept.
Determine the x-intercept(s). Select the correct choice

below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

() B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis |
(Type your answer in interval notation.)

The range of fis L
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval [
(Type your answer in interval notation.)

The function is decreasing on the interval
(Type your answer in interval notation.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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pA 22 S T
./)(0"/"7 ' /A [ e
/ l" ..L A/’ { é i P ‘f - =

g 1N kg e

(1) O up.
() down.

Answers (1) down.

.. J?{/““/)

LR e
i 2

x=—l (;J“(J je Af’?“\

ID: 2.4.43
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e,

T

26. Determlna‘wthout gra hlng. whether the given (wadrat;c fu ction has a @ jx value or a minimum valye and thanc ’
> & j

the value. K VAT foe A u,\s! (li/r = T o ) /_'L les &
VO G T

f00= =3¢ + 18x-5 | < (£)) = ( - (1P ( /1)

DoeS the quatiatic fur 3G voraan | xi Z(ng) =3
oes the quadratic functiorf f have a minimum value or a ma mum va . /4
{0 The function f has a maximum value. L i r /(b«o /)
() The function f has a minimum value. V e }-‘:/ﬂ B //? )
What is this minimum or maximum value? i .
\/ e L" ‘:‘ﬂ ".5(3) A+ [1(3)~5 )

: | e
(Simplify your answer.) (/ / Lf)\ = ( "S '*3(3)(’} )"f/ffj )"‘ S
# : .
Answers The function f has a maximum value. Vj ’/L& A ':’( 3 =2 7 a3 5('/"' s )
22 \/e A = [ 27~ )
ID: 2.4.59 /s '10{ == ’(3 QZ) / /?z‘/\(

'-_'___/-:._ —
27. Construct a polynomial function that might have the given graph.

Xf()("Z)Q/Y); 5 ' KZIO) (}_/'))
N ot )(/Z = add O'/( X"'Y“‘—/ ( =
,// 2 H2L=d7L O X~ 15 =oFy
CH=2 o= B
Choose the correct answer belowC /'-/v‘ L/W | ,Lj (a) d ) ( 2/ y ) /9/ d-) /
O A f(x)=x2 (x = 2)(x~4) Lo H-j{_‘:;%;ﬂxh& : E B S
X,}'v‘(,‘)z YA

( . ey -
—nn - /

O B. f(x)=x?(x +2)(x+4)
O C. () =x(x+2)(x+ 4)

-‘ f(x) x(x—2)(x - 4)

Answer: D. f(x) =x(x - 2)(x - 4)

= X (2% ‘f) ]

| (\/1 5o Srephn
el g < /Q‘/ULJ’ -

ID: 3.1.73

28. Solve the equation in tr@mek)ystem.
2 -
J X% - 12x+45=0

The solution set is ﬂ:} (Use a comma to separate answers as needed.)

Answer: 6-3i6+31i ’)(é —_— /z /(/—(’ Yj/ —
ID:3.3.2 A= | k‘-"f?, CZrs

/
/
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28. Find the complex zeros of the following plenorr:iéUunction. Write f in factored form. ’-’4 r(//[ L }
et - & / = i
S —(s 7T s 2 o
f(x) =x° - 15> + 79x - 145 A= i S A SS _
Xe) WAL VI
The complex zeros of f are | | = 29 o ﬂ”i}‘ Frs £ k
(Simplify your answer. Type an exact answer, using radicals and i as needed. Use integers or fractions for any numbers in “J i
the expression. Use a comma to separate answers as needed.) / QL2
— +2 (= &
Use the complex zeros i to factorf.. L /< ‘f
(u;p Sabhidc [ Vo2 01 ( L= -7, (=29 ._’ +
sl —— ) 7 X i
(Type your answer in factored form. Type an exact answer, using radicals and i as needed Use integers or fractuons for
any numbers in the expression. ) ”__T‘_——- < g :
y p ) : __(_,/.,a) i.b'( 7_/’ ? (2 ) /( 5 2 *{ W
, (L S__“,a//(/j—/%/x )
Answers 55-2i,5+2i 2 (1)
//—‘———- -, - -
(X-5)(x-5+2i)x-5-2i) )(, /O T Uras —/76, Q 7250 s
— _———-—-—'—_'_'-_ —_—

§=24, ¢—+2u

ID:3.3.33 [ ': /O “t(/-/6 —’d" / =]

__T_(__ﬁ__ = _ R _
30. Findt verﬂpu éliontal dobll e/asymptgtes if any, for the following rational function.

aC,r {fb/ﬁ C;m( —I é“J /’f/$ o
x+19 /’, )//7 =J/Y

Select the correct choice below and fill in any answer boxes within your ch0|ce (. \\ -
1 ~ T
(‘/ e /.l. | (,‘/( / / > _ /

O A. The vertical asymptote(s) is/are x="~_ . ( A )J /‘ v ,L -

(Use a comma to separate answers as needed.) f Uy 4
(O B. There is no vertical asymptote. / 0/< ﬁ 115 /1 s /ut\//
/ - ) f L-’ o)

pihat s

(O A. The horizontal asymptote(s) is/are y = .
(Use a comma to separate answers as needed.) U . / /
() B. There is no horizontal asymptote. fLLEn o 5 [ v "W ) >

Select the correct choice below and fill in any answer boxes within your choice.

R(X) =

Select the correct choice below and fill in any answer boxes within your choice. / )(

) A. The oblique asymptote(s) is/are y = ; / k/)
(Use a comma to separate answers as needed.) _ — -
() B. /[here is-no oblique asymptote = \\7 e / N N L'/ r
< //}_\_u / P = / d)/yv/,é; f{‘ =% o
Answers A. The vertical asymptote(s) is/are x = -19— (Use ‘acomma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 10 _|.(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

,)/"’)Cf( /7\)9\// /4/1)4}—1- d* %(// {1 f&nc(
__|[313f“_-"5' Qs _/__, Ars S /ch,f u é///wn—) /4n i

Aerr 15 V7o ()Lv/;/q A }7 by /7//{..//:: \)

— ~ 'J‘,
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31. _ For f(x) = 5x + 1 and g(x) = 5x, find the following composite functions and state the domain of each.
S @feg (M gof (9 fef (@ gog

. {3:._'
W (a) (fo g)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo g is {| )
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of fo g is all real numbers.
(b) (g o f(x) = (Simplify your answer.)
ﬁ Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of go fis {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o fis all real numbers.
(c) (fof)(x) = | (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fofis {| }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of fo fis all real numbers.
(d) (g@og)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

© A. The domain of gogis {x | 3.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(0 B. The domain of g o g is all real numbers.

Answers 25x + 1
B. The domain of f o g is all real numbers.
25x+5
B. The domain of g o fis all real numbers.
25x+6
B. The domain of f o f is all real numbers.
25x

B. The domain of g o g is all real numbers.
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ID: 4.1.23 //W |
@d hy< X+ af 550
(Foz/ri=
A 9=

/( §X ) ) _ iﬁcﬁkdr’hc “

s(sx ) 1= of (,;D
A 2K \/B g
N | TR
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O ) < A/ W) §X
(A ¢ );()7
// é,ﬁ)z

A swnn)- T
¢ ( I )_f } " f%mo
. L, 09
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72 )
(3
*_” The function f(x) = 12x - 4 is one-to-one.
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Ay
(a) Find the inverse of f and check the answer. 2““.r.
(b) Find the domain and the range of fand f 1 16
(c) Graph f, f~ L , and y = x on the same coordinate axes. 19;
= 8-
a)f 0= -_
(Simplify your answer. Use integers or fractions for any 4-
% nurmbers in the expression.) ] X
_ , _ 20 -16 12 -8 4 1 4 & 12 16 20
(b) Find the domain of f. Select the correct choice below and, if i
necessary, fill in the answer box to complete your choice. :
8]
© A- The domain is {x|x# }. _12_:1
) B. The domain is {x|x s }. rr !
() €. The domain is {x|x 2 3. 200

() D. The domain is the set of all real
numbers.

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

) A. The range is {yly# } /(
) B. The range is {y|y 2 } :
(> C. Th i < _ >

e range is {y|y < } /{ —
{1 D. The range is the set of all real numbers. ’

Find the domain of f N Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

() A. The domain is {x|x2 >, [ 1
(. B. The domain is {x|x$ }
0 C. The domain is {x|xa»e } ’

() D. The domain is the set of all real
numbers.

Find the range of f 1. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.
() A. The range is {y|y¢ -
(2 B. The range is {y|y2
) C. The range is {y|y$ }

_» D. The range is the set of all real numbers, \

(c) Graph f, f~ 1 , and y = x on the same coordinate éite_;‘.. Use
the graphing tool to graph the functions. e
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x+4
12

Answers

D. The domain is the set of all real numbers.

D. The range is the set of all real numbers.

D. The domain is the set of all real numbers:

D. The range is the set of all real numibers. \’L\[
o

165

ID: 4.2.53

33. Solve the equation. 2 ’-
-x+26

256

32 = 256" \
The solution set is { P

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.),

Answer: 10 ?fz"'j'x’ w3 _ Z,(TX
T=sy (30 © FX

—% Yoep [ZP = % T KN /D 2
—sx T I¥ —/3°

X — X < ¥Yx — [Jo —IX
~[3 Yy —12=
~/3/< — 3=
N/J T — /7

(Y /Oj)

ID: 4.3.73

390f47
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34. The percentage of patlents P who have survived t years after initial diagnosis of & certain disease is modeled by the

function P(t) = 100(0.2)". / /ﬁ' / < /SUu ( 0.2 )

(a) According to the model, what percent of patients survive 1 year after }nmai diagnosis?

(b) What percent of patients survive 2 years after initial diagnosis? / ( / ) / 6} ( ﬂ } )

(c) Explain the meaning of the base 0.2 in the context of this problem

(a) According to the model, i |% of patients sunm[ 1.year after initial diagnosis.
(Type an integer or a decimal.) -; // / Cfﬂ 6 Z)
)/ -
(b) According to the model, | % of patients survwé? yaars a ardragnoms 0 “5‘/“’ /
(Type an integer or a decimal™._ il

_——-—"‘-’-‘r
(c) Explain the meaning of the base 0.2 in the context of this problem. Select the correct choice below anCI fill'ln the answer

box to complete your choice. /’/ = / ﬁj ( & Z )

O A. Aseach year passes, % of the prewuus survivors take the diagnosis.
O B. Aseach year passes, % of the total batiants have survived. /&7( 2 ) / ( L m Z ) /
O C. Aseach year passes, % of the preJlous year's surwvo;s have survived.

Answers 20 //((/ /(U/( Z) l
4 % of th K\\Z(U q _ ___.*L///-""'

C. As each year passes, | 20 %\mrs have survived. /,_,f-’"‘
— e
ID: 4.3.109
.'—‘-u..._____ —
35. The function ’D(l,‘/ - 0. 5'3/
D(h)=3e -0.53h 3
can be used to find the number of milligrams D of a certain drug that.is in a patient's bloodstream h hours after the drug
has been administered. How many milligrams will be present ﬂer 1 gour" er ?‘h/ours?
After 1 hour, there will be | ' ___ milligrams. (Round to two decimal places as needed.)
2 /) P
After 7 hours, there will be | { rams. (Round to two decimal places as needed.)
Answers 1.77 D[‘) = '.) GA(‘OfS’3(())
0.07 F i f— o I — 4
T DN = £.7€s a’/frf«v’ 7 e
ID: 43,111 D( ) /’v 5 ﬁ‘\ /Z(, o/ a/é
D(7)= 73 5»/1( 0. s~s(7>> W
D = 0.073 V325617
< 0(7) =0-97 ) Ko
" = e _‘4"‘_'—_\-..._____. T
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36. Find the domain of the function. A ﬁ ] ~ L ()( Bé 7/

h(x) = In (x+7) *w A/,_;r )
The domain of h is . /{7; )—,‘ == = 7
(Type your answer in interval notation.) P
( X7-T -

Tg.com ag v Mprmtfmalh

Answer: (—7,00) R -_—:.__‘j:\_\
EE— s )
ID: 4.4.39 "j_ﬂ_ﬁ-—--’/ / j— ~
= — _
37. Solve the equation. é(.) S > (C/A/"" ,)/ Z s
log ,(4x+5)=5 \__/..-'-/;::7 = \
. . . . N : - L)
Change the given logarithmic equation to exponential form. 'Q\ - y %4 - }/‘f W/ L
[ ]  a———
(Type an equation. Do not simplify.) Z\ Z 7 - < S‘ XA
The solution set is { . g 9& X7y ;

(Simplify your answer. Use a comma to separate answers as needed.)

32 -
32- 5 = ¢ X

ANSWers 4y 4 5 = 2° 27 )(
2 2/

27
4

(.

ID: 4.4.91-Setup & Solve

38. Solve the equation. Write the answer in terms of the natural logarithm.
X
5¢9% =11 5.4 C’ <
. 5’_

The solution set is { I|}. S
(Type an exact answer. Simplify your answer. Use a comma to separate answers as needed )

//
Answer: In 2.2 O 50( < /, ’/--_‘ /\/: _/c— )

0.5

ID: 4.4.109 /(c’ / /é( s )( /W\
0.5 (1) - - / ) d-I< 755‘/%71; Y

g S T
U/f 0.
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¥ /U Cj Q.54
s i A
39. The formula Z roc ﬁl_(_"f / A éf //
D=10¢ 05 - £2 s,

]

can be used to find the number of milligrams D of a certain }'u%’that is in a patient's bloodstream h hours_after the drug
2

was administered. When the number of milligrams r reache e drug is to be administered again. What is the time
between injections? “$h—~

’{ St L4
The time between injections is | gur(s) —’7 {/ ( 2 ) <~ C) 34 / /

(Type an integer or a decimal rounded to two decimal pla%ss as 'needed )/ —
[ B |

/L C = / ' _
Answer: 3.22 /"K v(Z/)Z' — O C%// {,/(3 2( }’5’7)"]2{/[6 (
ID: 4.4.125 v-é { 2 ’0.’ >0 (1) ! (3 Z-L“;A A Oo«ﬁ/(

) © ~()_._§’4__ _ A o

— —— N ——

40. ite the expression as a sum and!or ifference of logarithms. Express powers as factors
ey, g (A0 6)) — G () =
log x>0
L Lo (4) ~+ Cos (x/c) — (o ()(7"7) o
X(x + 6) s
log l——] Umpllfy your answer

ot e Lo (x6) — ALos (X#7) =D

Answer: Iog x+ log (x+6)-2log (x +7) = = A
orneks Loy (2 oo~ o) N\ (Lo )= #Cosy)
“ll‘rrs*tﬂ t/‘, M«”/ _(“J//’f/“ﬂf/

41. Solve the Iogarlthmlc equatuon / ( é e
Determine the equation to be solved after removing the logarithm. B ;

[ I /( T 9[ b /

kType an equation. Do not simplify.) )(-rf (/ i 7 o 2 = (/,

Select the correct choice below and, if necessary, fill in the answer box to complete your-choioe____

(0 A. The solution set is { }. g’a X 3 \R%/.

(Simplify your answer. Type an exact answer. Use a comma t te answers as -
needed.)

() B. There is no solution.

Answers x+4 =7

A. The solution set is { 3 }

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

ID: 4.6.9-Setup & Solve
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Lo )/%)(/4) </

42. Solve the logarithmic equation. 70 ‘g_saa

/ log x + log (x-9) =1 /0 /‘t ,\/(A/":)

Determine the equation to be solved after removing the logarithm.

I I Saasls
mbn. Do not simplify.) O = XL — C] X ’/ =

|

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
OI(X + ()<= 12
O A. The solution set is { }
(Simplify your answer. Type an exact answer. Use a comma to separate answers as

needed.) /1 —) P = .
g//c ,AY/-H/J*/’: s Ghske

25 5 L)

f )‘
(Slmpllfy your answer. Type an exact answer. Use a comma to s p?pte answers as n ded. J( /v s )

L5 (1)~ Cos(i~3) = (141 o
ID: 4.6.17-Setup & Solve /5 (-—1) ~+ C(;’f;u(“)) = /| (v /C/:’)(:('f Uj({ai.(_/

43. Solve the following logarithmic equation. ( .,1 ( Z,{ -7 ) — (,4_1 ) / /.,/ = f )
,_._\ - j
log (2x+7)=1+ log(x- 1) [/U (‘5,,'\’1[) = / f,((l
/Kh
ourc

Select the correct choice below and, if necessary, fi II in the answer bo/lo'complete

{ ——2X+7

(O B. There is no solution.

Answers x(x-9)=10

OICB

0
O A, The solution set is { }. /

(Simplify your answer. Type an exact answer. Use a comma to separate nswers as need
() B. There is no solution. /\J

i—ﬁ o E ~ e
Answer: A. The solution set is — r({::fg%‘ L-U' V,: == — =

Y 05 7 ) (Simplify your answer. Type an exact answe 0 separate answers as needed.

MMk — /o (X“l) = p( 2447) | Lo 2(2-105)1)F =)+ Loy (T s =)
ID: 4.6.19 /Oz’/__/u_ L/( el 7_ )(//J,Z()-—[—f«/u)([. lz,g‘)

X AL = T fed brovd
Jox =X+ [
fox —L X T X /) —tX
D /) G o fl
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44. Solve the following. exponah”tla{ equation Exeress irrational solutmnsTn exjc‘t form z'nd asa declmal rounded t

decimal places. -7 = 6 -3
f;" 3 =64 J = =7 (Oj | /ﬂ( | A (/(V /) JZ"&A
(-3) M (§) — Y
What is the exact answer? Select the corre chor below’and, if necessary, fill in the nswer box to complete your 7 \(J)
2 W AT N

choice. )/r-} = - A
¢ ,’i%) 207

X~-378C 2+ s
O A. The solution set is {
(Simplify your ansv?ma answer) Z 69}

() B. Thereis no solutl((;/’; S . L‘_. / }7)
What is the answer rounde TU’Tﬁ”/cI;i al places'? Select the correct cho ;  if rlecessary fill in the answer
box to complete your choice. /}} ?

&CT) l
() A. The solution set is { _ } 1|
(Simpilify your answer. Type an integer or e’clmal PDnd to ree dec:mal places as— C - // '
needed.) ‘\; C - f

\Answers A. The solution set is { ]- (pimplify your answer. Type an exact answer.
\ i Jp— .
\»‘ A. The solution set is 5. 000 @ ?\T & /
\--“__\__ (Simplify your answer. Type an eger or ecimarmunded to three-decimal places as neede

N /;' - e — /

N - e o —— o
™ f./‘ an y \."Lf — .' __-—”/
ID: 4.6.41 N d 677 Sl Q( ¥ L

() B. There is no solution.

45. _ Find the amount that results from the given investment. A /Z / ’“‘flj

$200 invested at 7% compounded quarterly after a period of 3 years

» After 3 years, the investment results in $| | ;//(}/

(Round to the nearest cent as needed.)

/ Answer: 246.29 /,l - ﬂ/ U“(/ gl
;'f D477 A ZL)U ({»7‘ 07)

f N=500(( a/)/’/ .
/’ ﬁg@‘) (/"“W)/’/(? u% /

A4o0f47 M“k_//w/////‘* I
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46. /xHow [ does-it-take for an investment R@Jble i Ze(l{ué‘-it.j} is lim_(_,ea{ed ét4 ompoUnd@aﬂeﬂy? (CompnuYnd?d =,

ontinuously? - AL =
/00 [ it > Zer (O [z~ 200 SO0 C uvg
‘l At 4% compounded quarterly, the investment doubles in about | \years. 7y /L,Lf =
d Round to two decimal places as needed. Zcu,,. - 4-'5" 7]
(Rou imal p ) ~CL ( s } y e / S

/f.&
At 4% compounded continuously, the investment doubles in about

Ll 'years 2 LO%Y
(Round to two decimal places as needed) /] v 5177 Z/Z - /f \é’ (/ A (C /

7 = ((-T*éfv 7 Y 'f ¢ / ,(,,-‘(fl‘/ /v/?/ (/L\

Answers 17.42 I,,(Lz) (H (/ figif) GL (L(iL‘),.-(—Z)(,f‘((//} 1-3 =
‘7335(5) GlANT + % f’/U 6'5’(

(::(2) - — c/( Q,//ﬁe(—:;’. ~

IR; 4.7.35 (L//g (/1 .M)) /9 g;a 75 = . %i&?‘?bl (

47. How many years wlll it take for an |n|t|a| mvestment @0 000 te’@row tol$15 00/_,A55ume a rate of interest fB%

compounde\contlnuouﬂy"t / s E/U(/n-/ C '{___ - ’/# //z
—_—
2/ )-

It will take about | | years for the investment to grow to $15 cOF (. ﬂﬁg 2
(Round to two deC|maI places as needed.) o0 f / ) ¢ &5 /
[ . (90 O v 4(/-563“,’ 1)
Answer: 5.07 y - [0t ’«—' -~ v
/ ¢ “vU .OF € (15

%’ oY L4 j—‘é/—i) ':’;Qﬂ (K
D474 ﬂ(/s )’ (¢ )vrﬁ/f)(gf'v/m/% &7z é(

2= T 4
48. The population of a colony(f"mosquatoes obeys the law of uninhibited growth. Use this information to answer parts (a)
through (c). L ——
et
(a) If N is the pnpulahon of the colony and t is the time in days, express N as a function of t. Consider N is the original
/aﬁ{iount att=0 and k # 0 is a constant that represents the growth rate.

N(t) = iI(Type an expression using t as the variable and in terms of e.)

\ - ;{(,R‘z'-x
(b) /'fh(n'apul_ation-df a colony of mosquitoes obeys the law of uninhibited growth. If there are 1000 mosquitoes initially and
thiere are 1200 after 1 day, what is the size of the colony after 4 days?

Approximately | (ﬁ'loeqwtoes ( Ll C()
(Do not round until the final answer. Then round to the nearest whole number as needed.)

(c) How long is it until there am\QD 000 n{osqultoes?
5 Tilee

(

bout I | days.
(Do not round until the final answer. Then round to the nearest tenth as needed.) —__

Answers N ¢ kt

2074

247
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49. The half-life of carbon—1@62_?{yﬁars If a piece of charcoal made tﬁ//wood cf a tree shows on@gf the
carbon-14 expected in living matter, when did the tree d:e? ,L ﬁ . ‘;
. . 2 /(_/L./ / S_Gax ( 67) ") /Z/1
The tree died about | |years ago. . 6
(Do not round until the final answer. Then round t% the nearest whole number)“ e Z ¢ _ /
61 - /(L) sin 6 ““([i) e 7
Answer: 3235 -~ — .t ™ o, *—,I ) £ T
/ L/ /L-‘L ﬁ_ f — l-_" e 3 Z} S 7 ‘1
ID:48.11 )

(L[ )ﬁ‘j g—Gao .--é{;"’/)_)_' . Stgv é— QL}

T,éi.'_( y J ) — -’iﬁ‘—( l// ) ——ﬁ (-Fyﬁ—‘
0. After the release of radlo ctwe malena] into the atmosphere from-a.nuclear power plant in a country in 1998, the hayin -
that country was contaminated by a radioactive isotope (half- Iife% days). If it is safe to feed the )‘!ay to cows hen 14% of
the radioactive isotope remains, how long did the farmers need towait to use this hay? - "f ( ﬁ/
4 (»*2_ - Z A,
The farmers needed to wait approximately I days for it to be safe to feed the hay to the j;ows f C!//
(Round to one decimal place as ne%ged ) { ( % ¢ | ﬁh

'7 :
AR 7, |4, 65T A L
Answer: 19.9 4‘ (/% 7 Z) / ?
/% - /w// 7£/ (. /&4 b)) TRLI)= 76
ID: 4821 /7 /g_,i ‘ (//&)C@KH sc’/// "‘( 31
—

/‘J! L_ j._-’.r | -
L & P
Solve the system of equations. It the systern has no solution, say that it is i s‘stent QZ)( - i 7

7 =1 pes \\\ s
o —ay=-s /1) 2X Y \N\ i 29& ; 4;/
tox+y =23 f ¢ %"'9'/— Zf e
N 0=
Select the correct ch0|ce below and, if necessary, fill in any answer boxes within your choice, /,/

et ( }
() A. The solution of the system is x = andy= ] ;
(Type an integers or simplified fractions.) Z)( ('/7 ) f

() B. There are infinitely many solutions. Using ordered pairs, the solution can be written as

{(x,y)lx- ,'y any real number}. (2/) — C/7

(Simplify your answer. Type an expression using y as the variable as needed.)

C_I_'.___ =—— o —

S S‘ O X
() €. The system is inconsistent. ((/ 7 =
L. 2 — —
| N gy
Answer: A. The solution of the system is x = 2 andy= . ’
(Type an integers or simplified fractions.) = ‘T‘ ) // L
e { & s F//('
ID: 6.1.33 v SR
~ : hh\\
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52. Solve the given system of equations. If the system has no solution, say that it is Z’nconsisten_t.

P W</”'/’£/ c‘ﬁ’// _/:.15/ fA’V"“_,_.. e

X
2% + y+ z= =1 ﬁ] ’5 {»7
-3x+2y-2z=-11 5 d_ ._& 71,

Select the correct choice below and fill in any answer boxes within your choice.

O A. The solution is x = e ,and z= . (Typi
integers or simplified fractions.)

() B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= Y= , Z any real number}.
(Simplify your answers. Type expressions using z as the variable as needed.)

(O €. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(x Y.Z) | x= __, y any real number, z any real number
(Simplify your answer. Type an expression using y and z as the vanables Z‘needed.) /( )

O D. The systemis inconsistent. <% /D/ /77 ""/ e/ F&e,

Answer: A,
The solution |sx-| ",and z=l' 4 . | (Type integers or simplified
fractions.) //;/{ /C[/Jj) [Z) /(/ u :;r» o~ {_

53. Find the sum of the sequence.

oy

(5k+9) -

" ives) + (5073) (519 71) f He
24:(5“9)(_ (MLU)’f(/ 74 /’f//ff>)’7"/2'ur—ff),
=1 T77‘C_J+(ay)-f(' 29) =

Answer: 86 Q(/ B (—,/ “ L/f)( r? //h/ C / /"/(
Vy Bé/_)'amh(/—cmg (r

54. Expand the expression using the binomial th: oram
C(x UQ e‘? -- (C\(/d C(>( fc/# X/f/U 1 ((d ¢)
o ,.

ID:71.73

(x+2)°
2= //)(xﬁm(s/(x 1) r(/ /(X'f//e /T(/U/(x*’)(g) f/ )&)@ 1) Qf;e )=
Answer: y5 1 10y +40x +80x° +80x+32 —— / P—“
& A 128 A o F FOx + JXA22 = K

o = || s/ /é Ner) %= § “‘“\

H 7 = & {” Y/ PA /rh Wery S|
/’3’{_//' /fé /()(./ / - . ) B
(1) § Mu‘( /’// e, 2=/ V[sz jﬂ// C/Cw/(_/y

o
of‘475/ /M;. ',,, / P /;;_: [O . _1111-7/31)19_1_‘__ /55 PM

ff;o‘w’z.,J/ /,ffa /! Cr
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